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—SUSS AEIHA FAT SAL
7,0002 +80% #23] 1,120
YU RHEHAY HYs| AT B4
10,0002 * 1502 13| 1,500
—=XAAE 5o A B4
10,0002 * 153 +25| 300
—2E9 HAHOISSR S) AT 24
10,0002 *50 * 124 500
2K 3,894 11,851 2,043
201 Yer2g| 12,544 10,501 2,043
02 ZZ2Y| 12,544 10,501 2,043
ORtZ s ey 5,428
—32x 254
1,409. 24212, 500kn/ 10% 122 4,228
— Xt F | 100,000 *1CH* 122 1,200
SlET] 082, 432120 § *27H 4 1202 4,716
CNEETES 200,0002 128 2,400
203 YREAY| 1,350 1,350 0
03 AlZZ=XQ =Y 1,350 1,350 0
OmoH=T % IR 12,5002 128 1,350
ZOIBO A& 25 50,000 50,000 0
AFS FOAL Ha 50,000 50,000 0
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SN DEle
HE: DB AL
el ZOImOl AIM & (25l &2
SH-EH . C(BH) - NRAY - BES O AF o8 gggi; bRz
401 AIEHIL2CH] 50,000 50,000 0
01 Al&t] 50,000 50,000 0
OATRS A& 50,000, 0002 50,000
HHSAZH(DE ) 101,279 99,244 2,035
ol 2| 10,200 9,240 960
ol 2| 0,200 9,240 960
203 PREWY| 0,200 9,240 960
01 JIZSYYR =AY 6,600 6,000 600
Ol =Y 50,0002 * 128 6,600
02 HRAIIAYR Y| 600 540 60
OBRAIYRETY| 40,0009 15 600
% EASYARETY 3,000 2,700 300
ORN2YYLETY| 250,000% 128 3,000
T 91,079 90,004 1,075
o= 2| 91,079 90,004 1,075
201 Yer2 Yyl 41,879 40,804 1,075
01 At 2l 31,079 31,393 A314
osg+g 50,0002 #1132 5,650
Ogsrag| 22,804
—2N2Y LBIABE 1,200,000 122 14,400
—QIRYIE HIE P 4000002+ 122 4,800
—ZHNH 222 HH 200, 00021 %23 400
—RoIAH 8 267,000% 122 3,204
oBMSY S 7,00021 #1583 x254! 2,625
02 B2 0,800 9,411 1,389
OZZ22 % MAl 900, 0002 * 122 10,800
202 Oft] 49,200 49,200 0
01 =2Uioibl 49,200 49,200 0
OZUHoiHI(BN2Y ¥ SHHZET)
0,00024 #1521 16421 49,200
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SN S
Ha: SHS ALY
Sl FOIEOG KR (S5l &2

- _ _ MNEC
SH-EFHHA(FA) - NIRAE - BES 01l A+oH 'oﬂ/'\_FOH Hws2
H4&H 235,214 242,579 A7,365
A& AISEHI 137,430 145,969 A\8,539
FoEH KA 87,430 95,969 A\8,539
o - 8t g=k& 65,070 65,070 0
301 2et2 a3 65,070 65,070 0
05 S-cl-HEEs243 65,070 65,070 0
Ooo&E=¢ 62,320
—Jlg2=< 200,000& *19H « 128 45,600
—&03 200,000 *19Y »23| 7,600
—3o&A&sY 20,0003 x19H « 122 23| 9,120
OBt&E &=l 50,0003 x55H 2,750
=02 & ALK 6,420 16,308 9,888
201 B2 H| 3,000 3,000 0
03 A2 ZHI 3,000 3,000 0
OZCAHMAIZ S 1,500, 000& *23] 3,000
301 Lt Aaa 3,420 13,308 9,888
10 EALAHIEA S 3,420 3,308 112
OgAtalbI 2 a2 3,420
—SHH ASAL FAX S AL
7,000 *80F 23| 1,120
—S20H ZESOAMY HdHHe FAX B4
10,0003 1504 * 13| 1,500
— =LA 3o FAT 24
10,000 15 x23| 300
—Zte #HAH(OI=SH S) AL B4
10,0003 50 1 500
22X 15,940 14,591 1,349
201 et 14,590 13,241 1,349
02 Z==2ZHl 14,590 13,241 1,349
OR8] 7,474
—3IEX 7S
1,409.242 +2,500km/ 10+ 12& 4,228
—YHX 236 1,409.242 «500km/ 10128 846
—Xt&E | 100,000 »2CH 12 2,400
(@):K=3:] 982.433 %20 ¢ %2 A %1202 4,716
OAN&EEHI S XY 200,000 =12& 2,400
203 HRF &I 1,350 1,350 0
03 AMEFIHRFAY| 1,350 1,350 0
OMoi=+ & UAdNZ 112,500& 128 1,350
FoHO AM =3 50,000 50,000 0
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25 8&8H
g 4dH A3
CHel: FRIEO AM HE (e &

SN -EHH . (B) - MPAY - BE2 O &t 04 e HRE2
AR FOUAL K 50,000 50,000 0
401 Al&HI LS OHYI 50,000 50,000 0
01 Al&H| 50,000 50,000 0
Oar2 A4 50,000,000& 50,000
HE2AHH(4&H) 97,784 96,610 1,174
o122 gt 10,160 9,204 956
o122 gyl 10,160 9,204 956
203 ¥R =& 10,160 9,204 956
01 JI22ZHRF4l 6,600 6,000 600
OJ 22 L= 550,000& «12& 6,600
02 HIMMHR=LH 560 504 56
OFAIMY2E Y 40,0002 ¥142 560
04 2EAN2SHRFLH 3,000 2,700 300
ORN2IHRFAHI 250,000 «128 3,000
Jl=&Hl 87,624 87,406 218
o= 2| 87,624 87,406 218
201 YBr2 Y] 41,704 41,486 218
01 AtE22/H] 30,904 30,218 686
Oo2g=¢ 50,000& 113 5,650
Oget=8gH| 22,804
~BN2Y YU A8H  1,200,0002+128 14,400
— LS E HIS 2L 400,000 123 4,800
—2 A EE2=S MNEH 200,000& »22] 400
—RoFH=EY 267,000& «128 3,204
O&MN2Z =&l 7,000 x 14 254! 2,450
02 B2 10,800 1,268 468
OZ232= ¥ HMAl 900,000 «12& 10,800
202 (4Hl 45,920 45,920 0
01 =AY 45,920 45,920 0
OZUGHI(RAMSY o SSHTEX)
0,000& 14 164 45,920
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SA: BH
M &0
b

& At 3|
el =0EN XN (&9 HM
_ _ - HEc
SH-EFHHA(FA) - NIRAE - BES O AFH lOﬁ/l\_Fo” Hws2
E=galul 304,139 314,432 A 10,293
FHH ALE B I 192,270 202,809 A 10,539
FoENH XA 132,270 142,809 A 10,539
o - 8t g=k& 109,910 109,910 0
301 EtEA = 109,910 109,910 0
06 &-cl-EtEEsEas 109,910 109,910 0
Ooo&E=¢ 104,960
—Jlg2=< 200,000 #3289 123 76,800
&=z 200,000 *32Y #23| 12,800
ISl SRS Ry 20,0003 32 x 128 23| 15,360
OgtE & sl 50,0003 x99 4,950
=02 & M 6,420 18,308 A 11,888
201 LetHH| 3,000 3,000 0
03 A2 EHI 3,000 3,000 0
OZCAHMAIZ S 1,500,000& *23] 3,000
301 et24= 3,420 15,308 A 11,888
10 HALAHIZ2 &3 3,420 3,308 112
OHAMAHIEANS 3,420
—SHH? ASAA AL =4
7,000& «80H *23] 1,120
—S20H ZESOAMY HdHHe FAX B4
10,000& 150G » 13| 1,500
— =LA 3o FAT 24
10,000& 15 »23] 300
—Zte #HAH(OI=SH S) AL B4
10,0003 50H 1 500
23X 15,940 14,591 1,349
201 Let2d| 14,590 13,241 1,349
02 22234l 14,590 13,241 1,349
OR8] 7,474
—3st=2x 7F4
1,409.242 +2,500km/ 10+ 12& 4,228
— 2 HIX =&=4 1,409. 242 *500km/ 10+ 12& 846
— X EH 100, 0003 +2CH x 12 2,400
(@):K=3:] 982.433*20 £ 2 A 120 4,716
OA & EHIs Xl 200,000& x12& 2,400
203 HRF&H| 1,350 1,350 0
03 AMEFIHRFAY| 1,350 1,350 0
OMoi=+ & UAdNZ 112,500 «12& 1,350
FLEO AL &5 60,000 60,000 0
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S BN
Mo mEp A2
CHol: FOIEC AlM BE (el aa)
(=] X XH Ctol (3 =] A HAX2 AFOH dE e 2F
T}\—|°O—|'|_T|(2|j:”)'}\-“_l_}\l'lzl' (=2 &= 0;”/\|—OH =]
(AR

ARE FUAL N 60,000 60,000 0
401 AIEHILLCH] 60,000 60,000 0
01 Al&t| 60,000 60,000 0

OARS A& 60,000, 0002! 60,000
HHSAFHI(Z o) 111,869 111,623 246
ol 2| 1,480 10,392 1,088
ol 2| 1,480 10,392 1,088
203 HRFY| 11,480 10,392 1,088
01 JIR2YAR =AY 6,600 6,000 600
Ol YL =AY 550,0002 * 122 6,600
02 HRAIAYL Y| 680 612 68
OBRAIYRETY| 40,0009 17 680
04 ENRYARETY| 4,200 3,780 420
ORN2YYLETY) 350,0002 122 4,200
|22l 100,389 101,231 £842
o=l 100,389 101,231 £842
201 Yer2 Y| 44,629 45,471 £842
01 A2l 32,629 33, 183 A554
osg+g 50,0002 *1132 5,650
Ogerag| 24,004
—2NM2Y YBIABHl 1,200,008 122 14,400
—QIRYIE HIE P 500,000% * 122 6,000
—ZHNH 222 HF 200, 00021 %23 400
—20IHY 8 267,0002 122 3,204
OBN2Y S 7,00021 %172 x254! 2,975
02 B2 2,000 12,2883 £288
OZZ22 % MAl 1,000,0002 * 122 12,000
202 04t 55,760 55,760 0
01 =2Uioibl 55,760 55,760 0
OZUCHI(ZNSY o SBHYZT)
0,00024 #1724 1642 55,760
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